Examlet 1 Foundations of Advanced Math 2/4/16

1. Show that the sum of two odd integers is even.
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2. Determine whether P \/ Q is logically equivalent to ~(— P A — Q).

Pla leva | —e|—a) P Ana |~ (PA-0)
T T [ E|F F T
TIFl T || T F 12
FIT T T F F T
elFl Folxolz T F

Values undec all circumstances, +hey ave log teally

¢q wivalent, 3

—

/
Eveclent -



3. Ifa=,1,andb=,1thena=,b.
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4. ﬁ is irrational.
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5. Recall that if C is a set of real numbers, we say b is an upper bound for Ciff Vx e C, b > x.

Show that any collection of exactly » distinct real numbers (where 7 is a natural number) has an
upper bound.
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